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Event #1 - occurred on 2015/07/11 at 02:44:13 - ML=2.8 - RHYP=19.3 km - PGACKO=4.6 cm/s?
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Event #2 - occurred on 2015/07/12 at 01:51:24 - ML=2.4 - RHYP=18.7 km - PGACKO=5.5 cm/s?
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Event #3 - occurred on 2015/07/12 at 09:13:33 - ML—1.9 - RHYP—7.2 km - PGACK0—8.4 cm/s
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Event #4 - occurred on 2015/07/13 at 07:54:17 - ML:3.3 - RHYP:103.3 km - PGACKO=1.3 cm/s?
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Event #5 - occurred on 2015/07/18 at 06:57:57 - ML—2.3 - RHYP—ZS.O km - PGACKO—1.4 cm/s
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Event #6 - occurred on 2015/07/21 at 17:25:49 - ML—2.7 - RHYP—18.2 km - PGACKO—6.8 cm/s
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Event #7 - occurred on 2015/07/21 at 22:08:58 - ML=2.3 - RHYP=16.9 km - PGACKO=3.9 cm/s?
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Event #8 - occurred on 2015/07/30 at 12:51:29 - ML=2.9 - RHYP=21.3 km - PGACKO=7.7 cm/s?
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Event #9 - occurred on 2015/08/04 at 18:57:05 - ML—2.2 - RHYP—16.8 km - PGACKO—3.0 cm/s
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Event #10 - occurred on 2015/08/05 at 01:02:36 - ML:2.7 - RHYP:22.9 km - PGACKO=2.4 cm/s?
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Event #11 - occurred on 2015/08/07 at 03:49:10 - ML:2.5 - RHYP=23.8 km - PGACKO=3.6 cm/s?
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Event #12 - occurred on 2015/08/09 at 21:39:19 - ML—4.6 - MW—4.4 - RHYP—152.1 km - PGACK0—2.3 cm/s
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Event #13 - occurred on 2015/08/13 at 04:55:13 - ML:2.3 - RHYP:23.6 km - PGACKO=3.9 cm/s?
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Event #14 - occurred on 2015/08/13 at 22:13:56 - ML=3.3 - RHYP=15.8 km - PGACKO=21.2 cm/s?
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Event #15 - occurred on 2015/08/18 at 00:08:09 - ML:2.1 - RHYP:18.2 km - PGACKO=2.7 cm/s?
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Event #16 - occurred on 2015/08/20 at 02:56:47 - ML=3.4 - RHYP=19.2 km - PGACKO=90.7 cm/s?
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Event #17 - occurred on 2015/08/20 at 06:03:59 - ML=3.1 - RHYP=23.7 km - PGACKO=14.8 cm/s?
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Event #18 - occurred on 2015/08/20 at 06:15:03 - ML=3.6 - RHYP=21.9 km - PGACKO=11.2 cm/s?
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Event #19 - occurred on 2015/08/21 at 11:50:43 - ML:2.3 - RHYP=25.9 km - PGACKozl.O cm/s?
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Event #20 - max reccorded on 2015/08/21 at 14:47:04 - no association with catalogue - PGACKO=2.5 cm/s?
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Event #21 - occurred on 2015/08/22 at 03:30:09 - ML=2.5 - RHYP=16.4 km - PGACKO=14.7 cm/s?
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Event #22 - occurred on 2015/08/23 at 11:53:32 - ML:2.9 - RHYP:22.8 km - PGACKO=2.4 cm/s?
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Event #23 - occurred on 2015/08/26 at 21:18:14 - ML:2.2 - RHYP:29.5 km - PGACKO=2.2 cm/s?
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Event #24 - occurred on 2015/08/28 at 18:37:54 - ML:2.1 - RHYP=18.0 km - PGACKO=2.1 cm/s?
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Event #25 - occurred on 2015/08/30 at 11:49:18 - ML:1.8 - RHYP=17.3 km - PGACKozl.l cm/s?
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Event #26 - occurred on 2015/09/06 at 23:55:20 - ML=2 - RHYP=16.7 km - PGACK0:1.6 cm/s?
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Event #27 - occurred on 2015/09/06 at 23:59:43 - ML:2.4 - RHYP:15.6 km - PGACKO=4.5 cm/s?
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Event #28 - occurred on 2015/09/07 at 01:14:04 - ML:1.8 - RHYP:16.3 km - PGACKO=1.7 cm/s?
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Event #29 - occurred on 2015/09/07 at 01:14:42 - ML:1.9 - RHYP:16.2 km - PGACKO=1.7 cm/s?
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Event #30 - occurred on 2015/09/07 at 07:40:29 - ML=2.9 - RHYP=17.3 km - PGACKO=51.4 cm/s?
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Event #31 - occurred on 2015/09/07 at 07:43:56 - ML:2.3 - RHYP=16.8 km - PGACKO=O.9 cm/s?
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Event #32 - occurred on 2015/09/07 at 11:37:23 - ML:2.3 - RHYP=14.7 km - PGACKO=2.9 cm/s?
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Event #33 - occurred on 2015/09/08 at 20:44:50 - ML:2.2 - RHYP=16.6 km - PGACKO=2.O cm/s?
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Event #34 - occurred on 2015/09/09 at 07:08:20 - ML:2.7 - RHYP:23.0 km - PGACKO=3.9 cm/s?
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Event #35 - occurred on 2015/09/12 at 16:50:37 - ML=2.9 - RHYP=15.0 km - PGACKO=27.3 cm/s?
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Event #36 - occurred on 2015/09/13 at 23:43:51 - ML=2 - RHYP=19.2 km - PGACK0:1.5 cm/s?
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Event #37 - occurred on 2015/09/19 at 03:56:28 - ML=3.5 - RHYP=19.7 km - PGACKO=10.1 cm/s?
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Event #38 - occurred on 2015/09/25 at 22:53:29 - ML=2.8 - RHYP=19.8 km - PGACKO=11.2 cm/s?
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Event #39 - occurred on 2015/09/27 at 00:20:39 - ML:2.5 - RHYP:17.8 km - PGACKO=8.4 cm/s?

. Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
102
: .
. E
N 109) N
1
2
4
Co
1072
1 );:}i
-2 N s - — N
3 10
3 T T T T T T T
102
2
1
109)
2o
O
I e~
-
1 10 7
7
-2 = /E/
3 . . . . . 104
1 T T T T T T T
102
05
10°
g o
O
1072
0.5
4 . . . . . 104 . .
15 - . . . .
10?
1
0
05 10
n
-
4
O
0
1072
0.5
4 . . . . . 104
1.5
102
1
05
109)
o
J o
[
0.5 102
~“,
. - -
1 {é\_e_’_..,_’&
15 10
15
102
1
0.5 109)
8
)
[
0.5 102
z
1
- ,,,,_‘.e-f ~\
-15 104
0 50 100 150 200 250 101 10° 10t 102

Time [s]

Frequency [Hz]

SIN

104

10

10°

104

102

109)

109

z

10° 10t
Frequency [Hz]



CKWP

CKO

CK6

CK15

CK40

CK83

Event #40 - occurred on 2015/09/28 at 15:53:39 - ML:3.2 - RHYP:24.7 km - PGACKO=7.O cm/s?
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Event #41 - occurred on 2015/10/01 at 01:26:03 - ML:2.3 - RHYP:17.5 km - PGACKO=3.1 cm/s?
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Event #42 - occurred on 2015/10/09 at 23:41:11 - ML:2.3 - RHYP:16.7 km - PGACKO=6.3 cm/s?
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Event #43 - max reccorded on 2015/10/12 at 13:19:30 - no association with catalogue - PGACKO=1.3 cm/s?

06 Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
’ 102
z
0.4 E
N
0
02 10
o * i I
v ' 1072
s < A
. =7
0.4 10
102
05
109)
0
=
1072
0.5 P
a . . . . . 104
102
05
10°
0
1072
0.5
1 . . . . . 104 . .
0.3 - : . . .
10?
0.2
0.1 109
0
R
-0.1 1072 ~ \\\i AN
02 = /
03 . . . . . 104 . .
0.2
102
0.1
0
0 -—M 10
0.1
2 —
10 f NA —
0.2 < -
0.3 10
0.3
102
0.2
0.1 100
0
0.1 2
10
= Z
0.2 == =
0.3 104
0 50 100 150 200 250 10! 100 10t
Time [s] Frequency [Hz]

SIN

104

y/a L%
b

10*

102

10°

104

104

Frequency [Hz]



CKWP

CK6

CK15

CK40

CK83

Event #44 - occurred on 2015/10/16 at 21:03:50 - ML:2.8 - RHYP:14.3 km - PGACKO=2.9 cm/s?
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Event #45 - occurred on 2015/10/23 at 17:13:18 - ML=3.9 - RHYP=37.6 km - PGACKO=14.2 cm/s?
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Event #46 - occurred on 2015/10/23 at 20:14:58 - ML:2.8 - RHYP:33.5 km - PGACKO=1.8 cm/s?
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Event #47 - occurred on 2015/10/26 at 20:33:39 - ML:2.3 - RHYP=35.7 km - PGACKO=2.8 cm/s?
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Event #48 - occurred on 2015/10/27 at 10:29:02 - ML:Z.G - RHYP:17.4 km - PGACKO=6.8 cm/s?
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Event #49 - occurred on 2015/10/30 at 16:50:08 - ML:2.3 - RHYP=23.4 km - PGACKO=1.9 cm/s?
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Event #50 - occurred on 2015/11/06 at 18:32:45 - ML:2.1 - RHYP:16.2 km - PGACKO=2.9 cm/s?
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Event #51 - occurred on 2015/11/08 at 18:18:08 - ML—2.8 - RHYP—23.7 km - PGACKO—8.4 cm/s
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Event #52 - occurred on 2015/11/08 at 19:27:47 - ML:2.5 - RHYP:17.3 km - PGACKO=7.2 cm/s?

s Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
2 gnal z
E
1 100 N
5
go
[}
-1 -2
10
N
, ’9‘\—,
D=
3 10
102
2
1
109)
2o
[}
A1 102 o — ;_,
-~ —~r ﬁ
2 =
3 . . . . . 104
102
05
10°
0
1072
0.5
4 . . . . . 104 . .
3 . . . . .
10?
2
0
i 10
n
-
X
[}
0
1072
1
2 . . . . . 104
15
102
1
05
109)
0
0.5 102
-
A
-1 =5 = A<
15 10
1
102
05
109)
0
1072 2
05 z
R ==&~
-1 104
0 50 100 150 200 250 101 10° 10t 102

Time [s]

Frequency [Hz]

SIN
104
10 g \
10°
10*
103 P A4
NS
10°
104
102
10°
104
10 //
\N
109
104
) [)?‘ \
10 V2 \
10° E
104
B }/f\\\
=
10°
10t 10° 10t 102

Frequency [Hz]



.Ea- _ _ _ 2
Event #53 - occurred on 2015/11/09 at 21:56:38 - ML—2.7 - RHYP—18.0 km - PGACKO—9.9 cm/s
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Event #54 - occurred on 2015/11/10 at 17:05:05 - ML:2.3 - RHYP=25.0 km - PGACKO=1.2 cm/s?
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Event #55 - occurred on 2015/11/11 at 06:10:27 - ML:2.5 - RHYP:18.5 km - PGACKO=1.5 cm/s?
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Event #56 - occurred on 2015/11/17 at 07:10:07 - ML—6 - MW—6.4 - RHYP—57.2 km - PGACK0—144.4 cm/s
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Event #57 - occurred on 2015/11/17 at 07:29:42 - ML:3.7 - RHYP=56.6 km - PGACKO=2.2 cm/s?
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Event #58 - occurred on 2015/11/17 at 08:33:40 - ML—5.1 - MW—5 - RHYP—SS.O km - PGACK0—11.8 cm/s
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Event #59 - occurred on 2015/11/17 at 09:02:15 - ML:3.9 - RHYP:43.7 km - PGACKO=4.3 cm/s?
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Event #60 - occurred on 2015/11/17 at 10:41:37 - ML:3.6 - RHYP:36.3 km - PGACKO=2.5 cm/s?
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Event #61 - occurred on 2015/11/17 at 11:49:45 - ML:4.1 - MW:4 - RHYP=36.6 km - PGACKO=6.2 cm/s
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Event #62 - occurred on 2015/11/17 at 11:57:25 - ML—4.4 - MW—4.5 - RHYP—61.3 km - PGACK0—3.6 cm/s
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Event #63 - occurred on 2015/11/17 at 12:30:31 - ML=3 - RHYP=50.6 km - PGACK0:1.3 cm/s?
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Event #64 - occurred on 2015/11/17 at 12:37:56 - ML—4.5 - MW—4.7 - RHYP—61.3 km - PGACK0—5.1 cm/s
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Event #65 - occurred on 2015/11/17 at 16:40:01 - ML:3.4 - RHYP:42.9 km - PGACKO=2.7 cm/s?
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Event #66 - occurred on 2015/11/17 at 19:23:16 - ML:3.6 - RHYP:41.7 km - PGACKO=1.9 cm/s?
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Event #67 - occurred on 2015/11/17 at 19:39:34 - ML—4.5 - MW—4.2 - RHYP—61.1 km - PGACK0—3.5 cm/s
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Event #68 - occurred on 2015/11/17 at 21:11:36 - ML:3.7 - RHYP:42.6 km - PGACKO=3.O cm/s?
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Event #69 - occurred on 2015/11/18 at 01:19:26 - ML:2.9 - RHYP=43.3 km - PGACKozl.l cm/s?
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Event #70 - occurred on 2015/11/18 at 05:18:13 - ML—4.5 - MW—4.4 - RHYP—39.3 km - PGACKO—ls.l cm/s
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Event #71 - occurred on 2015/11/18 at 05:23:17 - ML:3.3 - RHYP:38.8 km - PGACKO=2.O cm/s?
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Event #72 - occurred on 2015/11/18 at 08:58:36 - ML:3.4 - RHYP:SO.S km - PGACKO=2.O cm/s?
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Event #73 - occurred on 2015/11/18 at 12:15:38 - ML—4.9 - MW—S - RHYP—77.8 km - PGACKO—S.S cm/s
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Event #74 - occurred on 2015/11/18 at 13:03:14 - ML—4.6 - MW—4.7 - RHYP—63.1 km - PGACK0—5.5 cm/s
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Event #75 - occurred on 2015/11/18 at 18:30:07 - ML—4.1 - MW—4.2 - RHYP—63.3 km - PGACKO—l.Z cm/s
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Event #76 - occurred on 2015/11/19 at 06:10:07 - ML:3.3 - RHYP:43.4 km - PGACKO=1.2 cm/s?
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Event #77 - occurred on 2015/11/19 at 17:45:55 - ML:4 - RHYP:35.4 km - PGACKO:11.6 cmi/s?
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Event #78 - occurred on 2015/11/20 at 03:05:28 - ML:3.8 - RHYP:39.1 km - PGACKO=5.1 cm/s?
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Event #79 - occurred on 2015/11/20 at 03:10:19 - ML:3.6 - RHYP:35.6 km - PGACKO=2.6 cm/s?
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Event #80 - occurred on 2015/11/20 at 04:27:57 - ML:3.3 - RHYP:38.6 km - PGACKO=2.5 cm/s?
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Event #81 - occurred on 2015/11/20 at 05:12:24 - ML—4.8 - MW—4.8 - RHYP—36.2 km - PGACK0—54.3 cm/s
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Event #82 - occurred on 2015/11/20 at 09:33:14 - ML—4.6 - MW—4.5 - RHYP—53.7 km - PGACK0—2.9 cm/s
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Event #83 - occurred on 2015/11/20 at 10:37:14 - ML:3.6 - RHYP:35.5 km - PGACKO=1.9 cm/s?
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Event #84 - occurred on 2015/11/20 at 12:46:10 - ML:2.2 - RHYP=17.2 km - PGACKO=2.4 cm/s?
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Event #85 - occurred on 2015/11/20 at 14:42:32 - ML:3.3 - RHYP:25.5 km - PGACKO=3.6 cm/s?
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Event #86 - occurred on 2015/11/20 at 18:07:37 - ML:3.3 - RHYP:35.7 km - PGACKO=1.9 cm/s?
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Event #87 - occurred on 2015/11/20 at 21:41:11 - ML—3 - RHYP—29.2 km - PGACKO—Z.l cm/s
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Event #88 - occurred on 2015/11/20 at 23:37:04 - ML:4.4 - RHYP:GZ.O km - PGACKO=2.8 cm/s?
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Event #89 - occurred on 2015/11/21 at 00:41:56 - ML—4.6 - MW—4.5 - RHYP—GZ.G km - PGACK0—3.2 cm/s
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Event #90 - occurred on 2015/11/21 at 01:58:25 - ML—4.2 - MW—4.1 - RHYP—51.2 km - PGACK0—4.9 cm/s
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Event #91 - occurred on 2015/11/21 at 03:50:25 - ML:3.1 - RHYP:39.8 km - PGACKozl.O cm/s?
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Event #92 - occurred on 2015/11/22 at 00:24:52 - ML:3.5 - RHYP:36.1 km - PGACKO=1.9 cm/s?
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Event #93 - occurred on 2015/11/22 at 02:39:45 - ML:3.7 - RHYP:34.9 km - PGACKO=2.6 cm/s?
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Event #94 - occurred on 2015/11/23 at 09:30:02 - ML=3.9 - RHYP=41.4 km - PGACKO=14.2 cm/s?
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Event #95 - occurred on 2015/11/23 at 15:23:32 - ML:3.4 - RHYP:41.9 km - PGACKO=3.2 cm/s?
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Event #96 - occurred on 2015/11/24 at 00:35:18 - ML:3.2 - RHYP:42.1 km - PGACKO=1.4 cm/s?
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Event #97 - occurred on 2015/11/24 at 11:56:21 - ML:3.7 - RHYP:25.9 km - PGACKO=5.8 cm/s?
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Event #98 - occurred on 2015/11/24 at 12:29:32 - ML:3.3 - RHYP:36.3 km - PGACKO=1.9 cm/s?
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Event #99 - occurred on 2015/11/24 at 18:15:59 - ML—2.8 - RHYP—27.1 km - PGACKO—l.B cm/s
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Event #100 - occurred on 2015/11/25 at 03:07:40 - ML:2.8 - RHYP:42.5 km - PGACK0:1.4 cm/s?
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Event #101 - occurred on 2015/11/25 at 03:14:47 - ML—4.2 - MW—4.1 - RHYP—42.8 km - PGACK0—13.8 cm/s
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Event #102 - occurred on 2015/11/25 at 07:36:29 - ML:3.1 - RHYP:41.9 km - PGACK0:1.7 cm/s?
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Event #103 - occurred on 2015/11/25 at 15:21:39 - ML:3.2 - RHYP:42.3 km - PGACK0:1.3 cm/s?

04 Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
’ 102
2
E
109) N
1072
10
0.4 - : : : . .
102
0.3
0.2
109)
0.1
0
A
0.1 107 /’\,_-_, b*ﬁtg_j
~ ~
0.2
03 . . . . 10
1 : : : . . .
102
0.5
10°
0
1072
0.5
1 . . . . 104 . .
0.3 - : . .
10?
0.2
0.1 10°
0
0.1 102
0.2
03 . . . . 104 . .
0.3
102
0.2
0.1
109)
0
0.1 2
10
02 ~ S
0.3 10
0.3
102
0.2
0.1 109)
0
0.1 102
N
K < =
0.2 F =
0.3 104
0 100 200 300 400 10t 10° 10t
Time [s] Frequency [Hz]

SIN

104

10

10°

(/

Y
!/

104

102

10°

10°

104

10

10°

Frequency [Hz]



Event #104 - occurred on 2015/11/25 at 15:46:28 - ML:2.9 - RHYP:20.1 km - PGACKO:Q.Q cm/s?
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Event #105 - occurred on 2015/11/27 at 18:03:20 - ML:2.5 - RHYP:22.7 km - PGACK0:2.4 cm/s?
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Event #106 - occurred on 2015/11/28 at 04:43:06 - ML:3.5 - RHYP:54.7 km - PGACK0:1.7 cm/s?
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Event #107 - occurred on 2015/11/29 at 08:36:09 - ML:4.1 - RHYP:63.1 km - PGACK0:1.6 cm/s?
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Event #108 - occurred on 2015/11/30 at 11:34:01 - ML:2.3 - RHYP:21.O km - PGACK0:2.3 cm/s?
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Event #109 - occurred on 2015/12/01 at 05:57:33 - ML:3.1 - RHYP:31.4 km - PGACK0:1.2 cm/s?
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Event #110 - occurred on 2015/12/03 at 15:00:21 - ML:3.2 - RHYP:42.9 km - PGACK0:4.5 cm/s?
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Event #111 - occurred on 2015/12/05 at 10:46:45 - ML:3.2 - RHYP:29.3 km - PGACK0:2.7 cm/s?
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Event #112 - occurred on 2015/12/07 at 21:52:06 - ML:3.2 - RHYP:43.4 km - PGACK0:1.2 cm/s?
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Event #113 - occurred on 2015/12/09 at 13:06:29 - ML:3.3 - RHYP:29.3 km - PGACK0:4.0 cm/s?
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Event #114 - occurred on 2015/12/10 at 07:36:32 - ML:Z - RHYP=16.2 km - PGACKO=1.2 cm/s?
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Event #115 - occurred on 2015/12/11 at 23:47:04 - ML:2.9 - RHYP:4O.9 km - PGACK0:2.3 cm/s?
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Event #116 - occurred on 2015/12/12 at 04:26:32 - ML:2.3 - RHYP:17.7 km - PGACKO=10.5 cm/s?
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cag- _ _ _ _ 2
Event #117 - occurred on 2015/12/12 at 08:34:45 - ML—4.6 - MW—4.5 - RHYP—74.O km - PGACKO—3.4 cm/s

05 Z [cm/s?] ASD [ (cm/s2)/Hz1? ]
’ 102
.
E
109) N
1072
S L)
BT e
10
2 : : . . . .
102
15
1
109)
05
0
05 1072
1
15 . . . . 104
1 : : . . . .
102
05
10°
0
1072
0.5
1 . . . . 104 . .
1 : . . .
10?
0.5
10°
0
1072
0.5
4 . . . . 104 . .
0.6
102
0.4
0.2
109)
0
0.2
-0.4 107 2 x,
al ,<' N = — —
-0.6 ~ &
0.8 10
0.5
102
109)
0
1072
0.5 104
0 100 200 300 400 101 10° 10t 102
Time [s] Frequency [Hz]

SIN

104
1t ﬂ \

- 1
10° \-’1
10*

\Y4
100 N
104
102
109)
104
“ AL N

[0/ N\
00 N
104
102 Jm\

~ N\
10° \1
104
o //?W\

~ AN
10°

10t 10° 10t

Frequency [Hz]



CKWP

CKO

CK6

CK15

CK40

CK83

Event #118 - occurred on 2015/12/12 at 14:55:48 - ML:2.4 - RHYP:29.6 km - PGACKO:O.Q cm/s
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Event #119 - occurred on 2015/12/25 at 05:58:46 - ML:2.4 - RHYP:18.3 km - PGACK0:1.4 cm/s?
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Event #120 - occurred on 2015/12/28 at 13:50:45 - ML:2.9 - RHYP:32.7 km - PGACK0:1.9 cm/s?
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